
2021-22 (Formative Assessment-I) ID 7Yõ
(Class-I - Maths) )®)ZzwDgc*è

Slip Test (20 Marks)

................................................................................................................................. ¤(̈D»**x
20 ¶K**]: ........................ gzw� ............................................................................. Zjw:

¶K**]( 5) �g`fs£zk,Ão�&°�Ð�h�X .1

¶K**]( 5) J-Z°Z�ÉÀ�/õGX 10 @*1 gsÆe1V6, .2

¶K**]( 5) :gz)�~WäzZá(Z°Z�ÉÀ�/õGX .3

¶K**]( 5) �gxy~WäzZáZ°Z�ÉÀ�/õGX .4
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2021-22 (Formative Assessment-I) I 7YõD
(Class-II - Maths) )®)�zxDgc*è

Slip Test (20 Marks)

................................................................................................................................. ¤(̈D»**x
20 ¶K**]: ........................ gzw� ............................................................................. Zjw:

(3X1=3) ÂV^~ÉÀ�/õGX .1

72  = ....................  + .................... (a)

56  = ....................  + .................... (b)

93  = ....................  + .................... (c)

(3X1=3) ¿̂~ÉÀ�/õGX .2

50 + 6  = .......................... (a)

90 + 8  = .......................... (b)

80 + 4  = .......................... (c)

¶K**]( 2) (,}°�6,g8-½�X .3

.2 .1

¶K**]( 2) gL°�6,g8-½�X .4

.1

.2

1

[ Turn Over



¶K**]( 2) »ZEw�D�ñ{à»VÃ%æFNÙX (> , < , =) o�&´#Ö .5

40  ............  30 (a)

17  ............  71 (b)

20  ............  50 (c)

45  ............  45 (d)

(4X1=4) �hÎ�X .6

40 60 + 5 (a)

40 + 6 »�Ûd$F,+�;ð 39 °� (b)

56 46 (c)

65 × (d)

(4X1=4) �g`fsZ°Z�Ãù�~Zzg4,zàF,KM~ÉÀ�/õGX .7

30 , 80 , 60 (a)

........................................ ù�~F,KM:
........................................ 4,zàF,KM:

41 , 67 , 28 (b)

........................................ ù�~F,KM:
........................................ 4,zàF,KM:

/////
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2021-22 (Formative Assessment-I) I 7YõD
(Class-III - Maths) )®)ÎxDgc*è

Slip Test (20 Marks)

................................................................................................................................. ¤(̈D»**x
20 ¶K**]: ........................ gzw� ............................................................................. Zjw:

(8X1=8) �g`fsÃiÙX .1

7    9 (d) 6    8 (c) 8   6 (b) 2   6 (a)

-  2    9 -  2    4 +  1   4 +  3   8

28 ÷ 2 (h) 12 ÷ 4 (g) 9 X 8 (f) 4 2 X 2 (e)

(1X1=1) �b�°�ÃZÖp~ÉÀ�/õGX .2

............................... 98

(1X1=1) �b�Z°Z�ÃÂV^~ÉÀ�/õGX .3

: 469 (a)

: 861 (b)

(2X1=2) â>{yÐÅ£ò7ÉÀ�/õGX .4

: 7 8 (a)

: 5 7 9 (b)

(2X2=4) �g`fsZ°Z�Ãù�~Zzg4,zàF,KM~ÉÀ�/õGX .5

10 , 40 , 20 (a)

........................................ ù�~F,KM:
........................................ 4,zàF,KM:

1

[ Turn Over



128 , 456 , 80 (b)

........................................ ù�~F,KM:
........................................ 4,zàF,KM:

(2X2=4) »ZEw�D�ñ{à»VÃ%æFNÙX (> , < , =) o�&´#Ö .6

156  ............  256 (a)

20  ............  15 (b)

68  ............  68 (c)

/////

2



2021-22 (Formative Assessment-I) I 7YõD
(Class-IV - Maths) )®)XgxDgc*è

Slip Test (20 Marks)

................................................................................................................................. ¤(̈D»**x
20 ¶K**]: ........................ gzw� ............................................................................. Zjw:

(4X1=4) �g`fsÃiÙX .1

28 ÷ 2 (d) 5 8 6 X 5 (c) 9   6   4 (b) 2   8   4 (a)

+  3   5   5 +  3   2   8

(4X1=4) �g`fsÃ¿ZzgÂV^~ÉÀ�/õGX .2

............................. : 600 + 40 + 8 (a)

............................. : 9000 + 20 + 1 (b)

............................. : 8 6 7 (c)

............................. : 3 2 0 5 (d)

(2X1=2) �g`fsZ°Z�ÃZÖp~ÉÀ�/õGX .3

............................. : 892 (a)

............................. : 3956 (b)

(1X1=1) �b�îßVÃù�~F,KM~ÉÀ�/õGX .4

8cm , 10cm , 5cm , 20cm

........................................... : ù�~F,KM
(1X1=1) C��{~~Hz�Ü�g;ì .5

........................

1

[ Turn Over



(4X1=4) �~�].zwÃ%æFNÙX .6

)gzVÅ®Z� Å®Z� ÃâV ^ � �¶Ky
â\ÅeÔ .1

t .2

��ÅI8 .3

eu5!*¾ .4

(2X2=4) �b�îßVÃù�~F,KM~ÉÀ�/õGX .7

e1V~]ÄVn}�VÐ? 6 Vn}�ÔZk§b 8 Zq-e)õEO~

/////

2



2021-22 (Formative Assessment-I) I 7YõD
(Class-V - Maths) )®)QDgc*è

Slip Test (20 Marks)

................................................................................................................................. ¤(̈D»**x
20 ¶K**]: ........................ gzw� ............................................................................. Zjw:

(4X1=4) �g`fsÃiÙX .1

878 ÷ 13 (d) 4 8  X 6 7 (c) 7  8  6  4 (b) 2 (a)

-   1  0  9 2   2

+   4   8   5

(2X1=2) �g`fsÃ¿̂~É�ZÖp~ÉÀ�/õGX .2

....................... : Z»×V 7 + �;×V 6 + ô} 5 + DÙZg 10 (a)

....................................................................................

............................. : 10829 + 20 (b)

....................................................................................

(2X1=2) Å£ò�V»ù·¥xÙX 7 �g`fsZ°Z�~ .3

............................. : 7 2 8 7 (a)

............................. : 2 7 8 7 7 (b)

(2X1=2) {à»VÃ%æFNÙX .4

.................... : »:gz)�~WäzZÑ(°� 1000 (a)

.................... : »7gz)¬WäzZÑ(°� 1081 (b)

(2X1=2) {à»VÃ%æFNÙX .5

.................... : Ð�WzZÑ�&Ð(,Z°� 3 , 7 , 8 yÐ (a)

.................... : Ð�WzZÑ�&Ð(,Z°� 2 , 0 , 9 yÐ (b)

1

[ Turn Over



(2X1=2) �g`fsZ°Z�Ã�ÛR�;ð6,gZî&+WsÙX .6

...................... : 1451 (a)

...................... : 6567 (b)

(2X1=2) »ZEw�D�ñ{à»VÃ%æFNÙX (> , < , =) o�&´#Ö .7

14851  ............  14859 (a)

9894  ............  9498 (b)

(2X2=4) �g`fsÎZßVÃiÙX .8

gz
#/õ FG

ic*�{�XC��!*1Æ0*kXg¶ 500 gz
#/õ FG

�X!*1Æ0*kØÔÐ 4500 ØÔÆ0*k .1

ñ��ì?
qÝ�? 9500 ~H¦HYñ@*� 3650 .2

/////

2


